F Homewor s [CLASSWORK. For 1 gy b T
R nequakthes Do

. 52. Expenses The sophomore class is planning a picnic. The cost of a permit to use | ]
a city park is $250. To pay for the permit, there is a fee of $.75 for each I 1!
sophomore and $1.25 for each guest who is not a sophomore. Two hundred

sophomores plan to attend. Write and solve an inequality to find how many
guests must attend for the sophomores to pay for the permit. |

0 53. Health Care Systolic blood pressure is the higher number in a blood !

pressure reading. It is measured as your heart muscle contracts. The formula

P= -éa + 110 gives the normal systolic blood pressure P based on age a. I

a. At age 20, does 120 represent a maximum or a minimum normal it .
systolic pressure? i

b. Find the normal systolic blood pressure for a 50-year-old person.

Real-World @& Connection

'V@o-{

Normal blood pressure for

teens is about 110/70. Match each inequality with its graph below.

54, —2x — 2 >4 ' 55.2 —2x >4 56.2x + 2> 4

q_ 57,2x + 2 > 4x 58.2x —2>4 59, 2(x —2) >4 |
A, > B. <—t—t—®—t+—+————1— :
S 5-4-3-2-10 1 2 3 —5-4-3-2-1 0 1 2 3 i
—¥ C. =it iy —— > D. <t
—5-4-3-2-10 12 3 3-2-1012 345 .
F., <ty —— e b |

—5-4-3-2-1 01 2 3 —3-2-10123 45

60. Open-Ended Write two different inequalities that you can solve by adding 5 |
and multiplying by —3. Solve each inequality. '

Wrte anSwereth he

The table at the right shows his Materials 1 45
expected monthly business v/ Business iiHa E ; _
expenses. Write and solve an Prens . Sew i1
inequality to find the number of = ——t “
hours he must work in a month
to make a profit of at least $600.

0

-

O
O
::, |
1 & Solve each inequality. C hoosSe C’CXC\S oV EVENWS PO <o , 7(0
} —?ﬁ | eLdr-3<r+3-¥ 62.4—2m=5-m+1 |
r Q 63. —2(0.5 — 4s) = —3(4 — 3.59) 64.4n—1=3+2n
3 g 65. —(8 —s5) <0 66.38 — k=52 —2k .
! = E 67.10 > 3(2n — 1) — 5(4n + 3) 68.33r+1)— (r+4 =13 |
d § 69.2(3x + 7) > 4(7 — 2x) 70.4(a — 2) — 6a = —9 !:_‘-.-
1 ; 3 | m4Gm -1 =20m +3) 72.17 — (4k — 2) = 2(k + 3) !
J 5 < | 1.2n - 3(n +3) =14 : 74.5x — 13x + 8) = —4 + 3x |
%:E\ 75. 50 — 2(a — 15) < 10 76.5¢ + 4c — 1) = 2 + 52 + ¢) il
- Qf . 77. Business Mandela is startin_g_ - | |
N Q) a part-time word-processing . 2 I
Y business out of his home. He <8 Expense | Cost : ik
TS plans to charge $15 per hour. ’ Equipment rental $490 ' |

adit(n

Du
Dc;lao
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